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PRODUCTION AND OPERATIONS
MANAGEMENT

Paper : 202
Full Marks - 70
Time - Three hours

The figures in the margin indicate full marks
for the questions.

Answer any five questions.

(a) What is job shop produc‘aon ? What are its
 characteristics, advantages and limitations ?
Suggest strategles to overcome some of its
hrmtatlons . . 8

(b) Indlcate how and why each of these factors
is important to the successful design and
operatlon of a super market 6

(i) Layout of the store
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(i1) Location

(iii) Capacity planning.

2. (a) What do you understand by "Plant Dcsign”'}i
Discuss the various factors to be»-consuicimi
in deciding the location of a car manufic

(§]
turing plant.

(b) An assé’mbly line must be established to
_include the tasks as gi’v¢n in the table.

Task . - Task time Predecessors
{in sec) -
A 120 _none
B 50 A
C 40 o B
| D 80 C F
B 00 A
F' 20 E
e 90 H
H 60 A
1 30 | A
J 60 D, G, I
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8 sequence diagram for the

B8 the line to a 120-second cycle
Bl i the minimum number of

B requiied 7
#@ balance the line to & 120-_sec0nd'
Bele tmo et

@ What is (e clficiency Q‘f | the:.’li'r}_le ?

i2) What do you understand by productivity ? In

what units can it be expressed ? ~E’xplai.n the

between production -and

Breduetivity, EEERTEE i

(B) What is the difference betweénv method study

and work measurcment ? What steps are
followed for doing 2 method study of job

process 7 . -7
() What is ABC, FSND and VED analysis ?

What arc the basic steps in iplementing
them ? o j T
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e jongest operation time (LOT})‘.“
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4 gait of end pioduct X requires two units
fiponent /7. The lead time for X is
féé;k;ihé standurd order quantity is .40 :
#ad eunent availability is 35 units.
gﬁgi@mmng for the next six weeks are

(b) A manufacturing company py

 partsofa machine for its'annual
ordering one-month’ usage at g
part costs Rs. 20. The ordering ee

2. is Rs.15 and the carrying, charges ; 38, 20, 15, 15 and 20 units respectively.
of the average nventory per yeak flem Z, lead tinie is two weeksé standarcti
1 s " 4 om s - guantity = 80 units and curren
- You have been ‘asked to su = guantity D
‘economical purchasing - p(ﬂi:ig@gté% Hlity iz 90 units. A schedule receipt for
. Colmpanyj'What' 'édVi"(.:’éj WOUId ycﬁj; S% - B8 £'s is due m week 1. Develop Completge
ow .mucht W‘Ou‘];d“it save the com?@:; iig? feeords for X and Y. .
year 2 . - '
: e T ) ﬁl fale does forecasting play in the
5. (a) What. is inspection ? What is the bas  BjiFegate planning process ? Demonstrate
- difference “between: inspection and GIETE Bew aggregate planning and scheduling costs
comtrol 7. - T ## affected by forccast errors. | 5
(b) The fblldwi'ﬁgﬁ".,ar_e__tm"vinsp‘ect,ion resuils - B Bme and exploin the advante{ges, “and
20 lots of magnets, &ach lot of being of 72 " HmMatiens of accoptance sampling over
magnets. Number of defective magnets : 1889% inspection. o 5
cach lot is 48, 56, 47, 71, 83, 48, 200, & o |
70, 67, 47, 34, 48, 37, 57, 29, 45, 20, 16 €) Bxplain the goals and standards of ISO-9000
~and 30. Calculate. the average  fraet’-  guality system. - LT 4
defective and three sigma control limits - o
. P-chart .and examine whether the process
in. control, T i
6. (a) Wlthm the {:oﬁte_xfp of overall plahning aa
| -scheduling systems ' for operations, explgi
- the role of MRP,© - - - o . o \
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